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PERTH MODERN SCHOOL

Exceptional schooling. Exceptional students.
Independent Public School

Course Methods Year 11

Student name: Teacher name:

Date: 17/02/20

Task type: Response
Time allowed for this task: 40 mins
Number of questions: 6

Materials required: NO CALCULATOR REQUIRED
NO NOTES REQUIRED

Standard items: Pens (blue/black preferred), pencils (including coloured), sharpener,
correction fluid/tape, eraser, ruler, highlighters

Special items: Drawing instruments, templates and formula sheet
Marks available: 37 marks
Task weighting: 10%

Formula sheet provided: Yes

Note: All part questions worth more than 2 marks require working to obtain full marks.
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Question 1 (1.1.6)
Solve each of the following for x.

i) 2x—-3=11->5x

+5x HU
T -3 = U
£3 43
T£ = % \/
2 = Z v/

30 = ¥ v

4
30 - O / (@é does not need to be
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Question 2 (1.1.4, 11.5, 1.1.6) (2, 3, 2, 3 =10 marks)
Determine the equation of a line that passes through the point (—4, 6) and:

i) has a gradient of 3

Yz 3x +c Ye 3x 418 V' find I'flj tu 3@:1]61!:
G=3EH) +¢C Viinding the y- inteapt
6= —12 +¢C

% =c

i) passes through the point (2, 5).

s B4 | | V/findig gradient
ool = == 16
Vigi e Y e "'E \/Cg‘n't?'f\fbfhhﬁvf
s 2

EA V' v\dif«j Y- intoy

.}j: '—’g"{. TL

& 5+ L
O = _%’. c il & ok 3
iii) is parallel to the line 2y — 4x = —7.

2y =2 =7 | \/«ﬁndzﬁggmdi@u
= 2y - :
3 i :2]: \/rﬁu_dnﬂ f\j"l"ﬂﬂiﬁr
Y= L+ ¢ Y= Zx +1¢
6= 2(-4) +¢
b2 =g 4L
. W& =cC .
iv) is perpendicular to the line 2y —x — 8 = 0.
(Q\\j =+ 8 \/ﬁnc)m m@mdi@tt
%(_ ongnal é‘lu cdhon
Y=+ "
) e V Andhig tue poperdidds
M:___H (\ﬁ:'—ZDL——Z} groadiet
.
Y= —Za4+C \/‘ﬁﬂo’wnj jffrH'U'CQfL"
L = ~264) tC
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Question 3 (1.1.1; 1.1.5,1.1.6) (3, 2, 2 =7 marks)

The coordinates P(2,p) and Q(q + 1,3q — 2) both lie on the line y = 5x + 1.

a) Find:
i) the values of p and q.
f = 5(2) +1
P = | \/ﬁndsng e cavect value fir p.
-&1— ? = 5(%’“) + | /gob;ma}j Q o e
39-2 = 5415 +l oA Jine
-2 = 5415 +
J(l -7 = 66[/ + &
-29 —2 = 6
i) th?rmidpoin{ofPQ.Lr ‘/Lomcﬁa W"’%__FDF, 1 N
el2v) Q(-3,-w
<2_‘_i_(:—3-> ) '_'_f_g:f__@ \/u,é;eg m!dp&thﬂ%fmul& coneaty
i 2
("‘l?: ) —%:) S Ands career midpone

b) For what value of m does the line y = mx + 2 not intersect with the line y = 5x + 17
Justify your answer.

m=5v"

Pmuu lnes do not inteect / jUshfeation
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Question 4 (1.1.4,1.1.5) (2,1,1,2,1=7 marks)

The graph below shows cost, C, in dollars versus distance x, in kilometres, for two different
car rental companies A and B. (Assume that parts of distance are charged for

proportionately.)
C ()
/]
2w B
= T A
=]
> X (km)

The costs for each company are outlined in the table below.

a) Which cost equation corresponds to Company A and Company B?

¢ =250+ 0.25x C =300+ 0.05x

B A
b) Explain what the gradient in the equation € = 250 + 0.25x represents.

meqa“d\/ for evey  km 4 traveld e cost ereqses by 4$0:25 |

c¢) Construct a linear rule for y = C, — Cj, the difference in cost between Company 4 and
Company B.

(\j: 60"0!21 \/
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d) Sketch the equation from part c) on the graph below clearly showing all intercepts.

C(9)
A

100
80

. \/Cérh: ct j - inferTep t

\ﬁ-“____ (

40 = |
20 . = o \/(icfn*eci— o —intopt

J

= > X (km)
340

iTAY 1

tn
=
‘_H
g
=
{
D
35
@D
D
N
1
D

e) Using the graph in part d) determine the number of km when the costs of Company 4
is cheaper than those of Company B.

More Aean 2.90 km L/

6|Page



Mathematics Department Perth Modern
Question 5 (1.1.6) (5 marks)

Solve for x, expressing your answer in its simplest form in terms of a and/or b.

xfTa=i%x [a, b # 0]
a(x+a) = b(b-z)
AL ta* = b’ -bx
ax +bx s B =d"
/  for
DC(CA’i‘b) = b* — ke {:ad'offSlnj bld
2 = Br-a / exproning  x (1 +emg @0\& b
a-+b

/S fogensiig bE—a

s
(

(&

O‘\E

A2

3

pe = b-a 3 atb #O /’S(Mphﬁo,o' answer

musk _
Sote e solyhon i¢ Orl\ﬂ

bue if atb 0 .
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Question 6 (1.1.6)

(2, 1, 1 = 4 marks)
A car travelling at 60 km/h takes t hours to go from A to B. If the speed of the car is reduced
by 10 km/h, the time to go from A to B is increased by half an hour.

a) Construct a linear equation for t using the information given.
bot = Bo(t +0:5) v/ LS

v/ RHS

b) Solve your equation in part a) and hence calculate the value of t.

oLt = 50t +25
ok = 5

)
L
L . Qx S g / (_d‘“ow for £E)

c) Find the distance between 4 and B.

d= T xk
d = (30 X 2‘ 5
= 150 km / (C\UOW for 'Ft_>

END OF TEST
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